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FlRST MID - TERM TEST - JULY - 2019
12-smD - MATHS
TIME : 1.30 Hrs. ;

MARKS : 50

PART - A

Choose the correct answer. 10X 1=10

-1 3 2
[. Ifthe matrix { I —3] has an inverse then the values of k.
I 4 5
a) k is any real number b)k=-4 ¢) kz-4 d) k#4
2. If p<p<r,then system of equations x + (sin0)y-(cos0)z=0, (cosB)x-y+z=0,
sin 0)x +y - z= 0 has a non - trivial solution then 0 is
(sinf)x +y
3 by 4 2r
a) Y b) vy c) 2 d) 9.
3. If|adj (adj A)| = JA]° then the order of the square matrix A is
a)3 b) 5 | c) 4 d) 2
z-1, ] .
4, ]f.~_+1 is purely imaginary, then |z is
1
a) 1 b) 5 c) 2 dy3
5. Ifz=0thenthe arg (2) is ‘
a) 0 b) indeterminate c) x d) %
6.  Ifthe amplitude of a complex number is % then the number is
a) purely imaginary b) purely real c)0 d) neither real nor imaginary
7. Thevalueof ;2 3. 40 ig ' ]
a) 1 b) 0 c)- 1 d)i
8. The polynomial x3 - kx2 + 9x has three real zeros if and only if, k satifjes °

9. If fand g are polynomials of degrees m and n respectively

degree of h is and if h(x) . (f@g) X, then the

a) mn m
10. A)ZE‘I'O ofx3+2]l6))ig ¢) mn d)m+n
a)0 b) 4i : ¢) 4 -6 o
Answer any 4 questions. QuestionPlé(le‘G- 112 compul
NS PESOEY. 4X2=3
L 1A= 11 20 g AL
2 21
fasisolve the system of inear s eqtflons by ma‘trix inversion method : 2x + Sy = -1', X+2y=-3
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13. Findthe p;'incip.\l argument arg 2, whe /3

iriangle formed bY the vertices z,izand z+izis 50 square units, find the

14. If the area of the

value of |z|.
15, Prove that the straight line

16. Solve: sine X =95 sinx +4 = 0.
PART - C

stion No. 22 is compulsory. 4% 3 =12
1 is 50% acid and another solution which is 25% acid.
ke 10 litres of a 40% acid solution? (Use Cramer’s

and p;\rulmlu cannot intersect at more than two points.

Answer any 4 questions. Que
17. A chemist has one solution whicl
How much cach should be mixed to ta

rule)
1 -1 O
. . -1 ,
18, Find the inverse of A= 1 02 : by Gauss - Fordan meéthod.

19. Solve the equation 734+ 8i=0 ,where zeC .
20. Show that the polynomial 9x9 + 2x5 - x4 - 7x2 + 2 has atleast six imaginary roots.

21, Forma polynomial equation with integer coefficients with ‘J\/_%B as a root.

7. Find the square root of - 7+ 241 .
PART - D
Answer all the questions. AX 5=20
23. A boy is walking along the path y = ax2+ bx + ¢ through the points (-6, 8), (-2,12) and
(3.8). He wants to meet his friend at P'(7, 60) will he meet his friend? (Use Gaussian

J

elimination method) (OR)
By using Gassian elimination method, balance the chemical reaction equation.

C, H, +0,- CO, + H,0.
24. Suppose 71,77 and Z3 are the vertices of an equilateral triangle inscribed in the circle.
Z|=2.1f Zy = +i {3, then find Zj and Z3 (OR)

m n

1 | \

) R ] S8 9

If 2cosa=x+— and 2cos fi=y+ -, show that a Wl =2i sin (ima —npf)
- ) NV "x

m n l
by X"y + o =2 cos(ma +nf})

25 Determine K and solve the equation 2x3 - 6x2 + 3x + k = 0 if one of its roots is twice the
sum of the other two roots. (OR)
 the equalionisk? 2. 5% it |
:g_ol\c the Lqu‘mon 06X a Sx‘3 -38x2 - 5x+ 6 = 0 if it is known that < is a solution.
26. Test for consistency of the following system of linear equations and if possible solve :
Ix-y+2z=2, 0x-3y+32=0, 4X-2y+2z=4. (OR) |
Solve :i) 8x -y =63 i1) Findall real numbers satisfying 4X- 3(2 Xt2) +25 =0.

PN sl Tl o b W N
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’ , -2 V3 iR 3marlt
_'_:_‘P_‘EE ,—9 o= H-H}x PIB ["D Y4 ITs) —-@
- d=
) C) K-k = 47 /3
_ 2 . Sof- X+ 254 Y =Lot 10
).) C) /lf ajjz; t_ﬂh‘i[g/xl 2+ Y =16 '—@
3) C) lf« =] Ax:—é A :-lf
= Jai? |13 7
k) a) ) RE0 X=6 Y=4
£) by indeler 5 — C@’“):s) |—10 Loo |1
L) a) purely ) 11271 4, [Mﬂﬂ 33?
ima lep) = ]zi-__.Z) 6}3 (IL) _2-3 -
)a)) P53
T)a prea = L |psllcol o0 :i‘ :i’ ,'
9)d) W17 6 so =L lz-72l IZ'L*;-Z/ flz 2 =3¢
q) a)wn Y e el )
. 260 = |9z e - —
10) d s 121%= 100 lﬂ =81 v\
i 2m1k izl=10 = acks( ¥ )
l:) ‘d mx“’ Zx\:\E*»”/ "-',—@.-f
M‘Jd = q (mx )= hax  [20)2Si Oha”jg;ge 1 P::e_)rmt
/3-"+-L— adj(@ rnz)‘.l- ')([‘lmC"l‘l"ﬂ:)'}‘c - o .

Auadfatt . T+ has {‘(«)(J

iJ[ua

22 t )
12) AX=B

I/é// -l
(53]

,/T'B
(3) /[r)

|1,> Y=5inx
S syt =0
¢ Y-(4H) =0
Y=k Y=/
Sk =4 St =8 W
N

Henmﬂodéd foind$

L =0T H-p"T))

| £ign change of P

| Yok
0 hat o Yoot
. ool Voot =3
atbost b ingtet
Dl)@g \/”L) XS #ﬂb"’{ |
Cx+\f¢:) 7 x° ﬁ
ancthen focb? o +lf2—
ol V3

Joqu jod Y 'g"" )
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22) J-74247) 285

[ = 2
,+/\}P+l ie)

=4 (3+1%)
smark
13’)(4) Yo-ax +bﬁ(+ L
(-¢, 8) 34a-6brc =8
(-2,-12) La-2rb+c="12
(3,3) qa33brc=3
Ax<=D

36 —~6 |
(08) (o ~12 8 ~n6
0 o 30 -390

C-—"’O ,—/

o 2k
Il

=

Y=x>+2x~10
(7;60) % a pent

he will maet hd Fliod

205) Z :l'f‘?lr
KR
, ztlu [,*_,0) 1”

“—2’

., °

®

5%-X3 =0, §x-%y=0
2'12 1—?3"(), =0

CAlng = [fé’ ;,’;,/ o)

o2 —2-/

o ko o- |06
VI e—;/ )
aAnxPaId-22Y4

S 0-4 &
F=1% =7 =52 =5

Z ac i e fd4iv,)
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@ '5f-r~31?f—6‘£c
&Lop_ -] —13—4

5|63 -37 32
@L@L
6 154

b 155 +6 =0

= 1=V 91'5%‘ N--2
-\25—2/ 2331'_'6 290 AX—B
~ —( |2
B %= Catol 1] Lemk (nie]= [ _3‘3' J
4= CapHi S P 2 -2 2 4
. 2
_?_\ﬂ__;__rl:;,j)gvr{mo(e-np) al g oo 2 o)
g° xm °©
\ ehB)zera=|zn
'n 3n+_|_ > 0aS(mdf+1f ) Y=
j | Dx_g+t=2 't
55) o, B2 be v [2*“? tEP
o/ =a(P+Y) &) (’> Yoy’
S Qg~i 43
Maoua[ﬁ—}a’):é ’33 63(7—2 =0
z{ = s
| 2+0l 73\ /5= 8 | .
3o =4 9't___]_ 3 =4
o =2 AL L
o k- -
2 —2-) Lo ())él) 3(: 2) #2 R
2 -
2A 2N~ =0 ™ -0
Y=—s [1&-}32
= £ VT X = -
U SN (3 (Y -3 =0

OY=h | y=¢
b, (=R
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